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-  Carbonyls undergo addition reactions 
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Hydride Donors 
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Mech: 
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Addition of H-OH to C=O 
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Alcohols by substitution reaction – SN1, SN2 
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Formation of Ethers 
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 -  side products: 
 

H3C C

CH3

O

CH3

CH3C

CH3

CH3

none

OH3CH2C CH2CH3

little

H2C CH2

lots
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Diazonium salt: 
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Epoxide: 
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Eliminations, E1 
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Mech: (MUST have acid to displace water, can NOT displace OH under basic conditions) 
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Sugars = Carbohydrates = Saccharides 
 

• C + H2O  
• CNH2NON is the general molecular formula 
• 3 carbons or more 

 

Classification: 3C   Triose
4C   Tetrose
5C   Pentose
6C   Hexose
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D-glucose  
 

• 4 x 1011 metric tons of CO2 fixed 
• hv = 0.02% sun’s energy on earth 

 
D-Glucose: 
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• A D-sugar has R configuration for highest number stereogenic center. 
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